Category	Item Description	Brand	Length	Qty	Ext	Cost Ea	Amount Ext	Lot Discount	Local PU Discount
Control	Lighting Consoles								
	6 Chan, I Scene, Analog Includes Road Case	Leprecon LP-250		1		\$99.00	\$99.00	\$66.33	\$49.75
	12 Ch, 2 Scene, 12 Presets x 4, Cue Stack, Dust Cover & Case	Leprecon LP-612		1		\$495.00	\$495.00	\$371.25	\$297.00
	72 Ch, 2 Scene, 24 Presets x 8, Cue Stack, Dust Cover & Case	Leprecon LP-2000		1		\$795.00	\$795.00	\$437.25	\$327.94
	2048 Ch Moving Light Console 24 Sliders, 6 Stackable Playbacks 6 Quick Looks, 20 Pages Memory Supports External Touch Screen Cue Stack, Dust Cover & Case	Leprecon XC-350		1		\$2,995.00	\$2,995.00	\$1,497.50	\$1,123.13
	240 Ch Moving Light Console Split Roller with 20 Playbacks 30 Sliders x 2 Scene, Titan v9 Supports External Touch Screen Cue Stack, Dust Cover & Case	Avo Pearl Expert		1		\$2,895.00	\$2,895.00	\$1,013.25	\$699.14
Monitors	VDU							\$354.03	\$326.12
	19" Touch Screen - ET1900L Case for 19" Touch Screen - 1600	ELO Pelican		1		\$295.00 \$195.00	\$295.00 \$195.00	\$250.75	\$225.68
DMX Accessory	Remote Focus System						\$1,574.00	\$471.19	\$376.95
	Focus Brain XL Wireless Control of 512 Address	ELC		1		\$800.00	\$800.00		
	DT124: DMX Opti Spliter	ELC		1		\$449.00	\$449.00		
	PS4x4 Pro - Power Conditioner	ART		1		\$120.00	\$120.00		
	4 RU Case	SKB		1		\$85.00	\$85.00		
	1 RU Drawer	Rackman		1		\$120.00	\$120.00		

DMX Accessory	DMX Splitter								
	Opti Spliter #125: 5 pin, 1 ln/5 Out	Doug Fleenor		1		\$449.00	\$449.00	\$224.50	\$190.83
DMX Accessory	Wireless DMX System						\$3,500.00	\$1,258.95	\$994.57
	Wireless Transmitter W-DMX G4	Wireless Solution		1		\$500.00	\$500.00	\$350.00	
	W-DMX Receiver & Power	Leprecon: Watson		4		\$575.00	\$2,300.00	\$1,449.00	
	Management for other Devices								
	W-DMX Receiver	Leprecon: LWS		1		\$400.00	\$400.00	\$280.00	
	PS4x4 Pro - Power Conditioner	ART		1		\$120.00	\$120.00		
	6 RU Case	SKB		1		\$95.00	\$95.00		
	3 RU Drawer			1		\$85.00	\$85.00		
Disconnect	Portable Safety Switch								
	Safety Switch Type G	Murray		1		\$195.00	\$195.00	\$175.50	\$100.04
	Cam-lock In & Out: reversed N&G								
	Dual Lugs for Bare Tail Tie-In								
	125 A & 200 A Fuses Included								
Dimmers	Portable Rack LD-1								
	36 x 2.4kw: LD-2400	Leprecon		1		\$2,250.00	\$2,250.00	\$1,350.00	\$945.00
	Camlock In & Out, Reverse N&G								
	Main Breakers Switch 1Ø > 3Ø								
	108 Ch DMX to Analog Convertor								
	12- 6 Cir 19 pin Socapex Out								
	6- Stage Pin Out, Patchable								
	2- Duplex Edison Out								
Dimmers	Portable Rack LD-2								
	36 x 2.4kw: LD-2400	Leprecon		1		\$2,250.00	\$2,250.00	\$1,350.00	\$945.00
	Camlock In & Out, Reverse N&G								
	Main Breakers Switch 1Ø > 3Ø								
	48 Ch DMX to Analog Convertor								
	4- 6 Cir 19 pin Socapex Out								
	4- 8 Cir 19 pin Socapex Out								
	4- 6 or 8 Cir 19 pin Socapex Out								
		I	I		I	1			

	6- Stage Pin Out, Patchable 2- Duplex Edison Out		•						
Dimmers	Portable Rack VX								
	48 x 2.4kw: VX-2400 Camlock In & Out, Reverse N&G Main Breakers Switch 1Ø > 3Ø Voltage Meter Panel 8- 6 Cir 19 pin Socapex Out 8- 8 Cir 19 pin Socapex Out 6- Stage Pin Out, Patchable 3- Duplex Edison Out, Patchable 6- Non-dim Circuits In Patchbay	Leprecon		1		\$3,500.00	\$3,500.00	\$3,325.00	\$3,158.75
Rigging	Fall Protection							\$117.75	\$94.20
333	5/8" Vertical Lifeline - #411-50	French Creek	50 ft	3		\$19.00	\$57.00	\$48.45	* 0.110
	5/8" Rope Grab - M10	Mechanical Corp		1		\$35.00	\$35.00		
	5/8" Rope Grab with 3' Lanyard	п		1		\$42.00	\$42.00		
Rigging	Ground Support								
	Fixture Floor Bases - 9" x 12"			21		\$2.00	\$42.00	\$21.00	\$16.80
	Indoor Guywires with Pallets, Floor Plates, Chain & 1/4' x 25' Adjustable GAC			4		\$30.00	\$120.00	\$96.00	\$76.80
Rigging	Hardware								
333	Schd 40 Black Iron 1.5" Pipe		21 ft	1	21 ft	\$125.00	\$125.00	\$87.50	\$52.50
	Schd 40 Black Alum 2" Tube		20 ft	5	100 ft	\$175.00	\$875.00	\$743.75	\$595.00
	Schd 40 Black Alum 2" Tube		12 ft	1	12 ft	\$105.00	\$105.00	\$99.75	\$49.88
	Schd 40 Black Alum 2" Tube		8 ft	1	8 ft	\$70.00	\$70.00	\$66.50	\$33.25
	Adjustable Mega Swivel Coupler	The Light Source		4		\$24.00	\$96.00	\$76.80	\$61.44
	Mega Claw - MWB	The Light Source		4		\$27.00	\$108.00	\$91.80	\$78.03
	Truss Condoms for 2" Chords			12		\$0.50	\$6.00	\$4.80	\$3.94
	Trip Blocks for 1/2" Bottom Pipe			20		\$2.00	\$40.00	\$30.00	\$24.00
	2 3/8" Rescue Pulleys - 8k MBS	CMI - RP103		2		\$49.00	\$98.00	\$83.30	\$66.64
	4" Heavy Duty Pulleys - 20k MBS	CMI - RP123		3		\$69.00	\$207.00	\$175.95	\$140.76

	1/4" Strand Vise	Universal #5200 (New	v)	2		\$14.00	\$28.00	\$25.20	\$20.16
	1/4" Screw Pin Shackles	Crosby (New)	1/2 T	13		\$7.00	\$91.00	\$81.90	\$69.62
	Cheeseborough (Swivel Coupler)	ProBurger (New)	2 in	1		\$24.00	\$24.00	\$21.84	\$18.56
Stage Pin Cable	12-3 SO Stage Pin				185 ft		\$661.00	\$473.43	\$378.75
	"	EPS, ProPin, Union	10 ft	16	160 ft	\$15.00	\$240.00	\$180.00	
	"	II	25 ft	1	25 ft	\$26.00	\$26.00	\$22.10	
	Road Case - 22"x29.5"x33"	Scenes Unlimited		1		\$395.00	\$395.00		
Stage Pin Cable	14-3 SO Stage Pin				335 ft		\$232.00	\$198.36	\$190.43
	"	EPS, ProPin, Union	5 ft	17	85 ft	\$6.00	\$102.00	\$91.80	
	и	п	25 ft	10	250 ft	\$13.00	\$130.00	\$117.00	
XLR Cable	5 pin DMX				10 ft		\$28.00	\$28.00	\$26.60
0	PC224P Cable 5 pin XLR BAG	ProPlex - Neutrik	5 ft	2	10 ft	\$14.00	\$28.00	\$28.00	\$26.60
XLR Cable	3 pin to 5 pin Adapters				65 ft		\$74.00	\$56.61	\$45.29
ALD Cable	3 pin to 5 pin Adapters 3 pin F to 5 pin M		10 ft	2	20 ft	\$14.00	\$28.00	\$23.80	\$21.42
	<u> </u>		25 ft	1	25 ft	\$14.00	\$18.00	\$15.30	\$13.77
	3 pin F to 5 pin M 3 pin M to 5 pin F		25 It	2	25 ft	\$14.00	\$28.00	\$23.80	\$21.42
	3 piii w to 3 piii r		10 11		20 11	φ14.00	φ26.00	Ψ23.60	Ψ21.42
XLR Cable	4 pin Scroller				335 ft		\$253.00	\$183.80	\$147.04
	Belden 8412 with Switchcraft or N	leutrik	10 ft	5	50 ft	\$15.00	\$75.00	\$63.75	\$60.56
	п		25 ft	4	100 ft	\$20.00	\$80.00	\$68.00	\$64.60
			50 ft	1	50 ft	\$30.00	\$30.00	\$30.00	\$27.00
			60 ft	1	60 ft	\$32.00	\$32.00	\$32.00	\$28.80
			75 ft	1	75 ft	\$36.00	\$36.00	\$36.00	\$32.40
XLR Cable	3 pin Intercom / Audio				725 ft		\$384.00	\$325.13	\$292.61
	Belden 8420 with Switchcraft or N	leutrik	10 ft	0	0 ft	\$15.00	\$0.00	\$0.00	\$0.00
			25 ft	5	125 ft	\$20.00	\$100.00	\$90.00	\$81.00
			50 ft	2	100 ft	\$30.00	\$60.00	\$54.00	\$48.60
			75 ft	1	75 ft	\$36.00	\$36.00	\$36.00	\$32.40
			100 ft	3	300 ft	\$45.00	\$135.00	\$128.25	\$115.43
			125 ft	1	125 ft	\$53.00	\$53.00	\$53.00	\$47.70

Adapter Cabl	les, Etc		_						
	Double Female Tee - Green	Camlock - 1016		1		\$14.00	\$14.00	\$14.00	\$12.60
	ACL Adapter - Pin M to 19 pin F		10 ft	1	ft	\$22.00	\$22.00	\$22.00	\$19.80
	2 Edision to LD-2400 Power Block	Leprecon	2 ft	1	ft	\$19.00	\$19.00	\$19.00	\$17.10
	6 cir Break-Out Box - Soca to Edis	son & Pin		3		\$139.00	\$417.00	\$300.24	\$270.22
	PowerCon A to B Coupler	Neutrik		4		\$18.00	\$72.00	\$60.48	\$54.43
Fixtures	Conventional ERS						\$2,422.00	\$3,640.91	\$2,912.73
	SL ERS - Body, Pin Connector,	Strand		42		\$89.00	\$3,738.00	\$2,803.50	
	Safety Cable, C-Clamp & GLC		575 w						
	SL Lens Tube: 19°	п		10		\$39.00	\$390.00	\$331.50	
	SL Lens Tube: 26°	II		10		\$39.00	\$390.00	\$331.50	
	SL Lens Tube: 36°	п		37		\$39.00	\$1,443.00	\$1,226.55	
	SL Drop-In Iris - 24 Leaf (NEW)	L Drop-In Iris - 24 Leaf (NEW) Strand / City Theatrical				\$49.00	\$49.00	\$49.00	
	SL ERS - Body, Pin Connector,	Strand		2		\$75.00	\$150.00	\$112.50	\$101.25
	Safety Cable, (Stripped Rotation K	(nob)							
Fixtures	Conventional Cyc Lts						\$2,394.00	\$1,520.82	\$1,292.70
	3 Cell Iris (5913TV) - 3 FDB Lamps	Strand	1500 w	6		\$249.00	\$1,494.00	\$1,195.20	\$1,015.92
	3- 12"x16" CF & Screens, C-Clam	р							
	Road Cases 29.5" x 60" x 33" h	Scenes Unlimited		2		\$450.00	\$900.00	\$594.00	\$504.90
Fixtures	Conventional Fresnels						\$1,491.00	\$1,136.73	\$909.38
	6" Fresnel (3380) C-Clamp, Safety	Strand		17		\$75.00	\$1,275.00	\$1,083.75	
	Color Frame & BTR Lamp		1000 w						
	6" Barn Door - 8 Leaf with Safety	Strand		8		\$27.00	\$216.00	\$179.28	
Fixtures	Conventional PARs						\$195.00		
	PAR 64 - Color Frames & Lamps	CSL	1000 w	13		\$15.00	\$195.00	\$66.30	\$59.67
	PAR 38 Steel UL	Lighting & Electronics	300 w	4		\$9.00	\$36.00	\$26.64	\$23.98
		MBT	150 w						
Lamps	Stage & Studio Lamps (Used)						\$507.00	\$246.08	
Lamps	FFN - 1000w VNSP PAR 64	Sylvania, Osram or	1000 w	21		\$5.00	\$105.00	\$52.50	\$44.63
	FFP - 1000W NSP PAR 64	GE, Thorn	1000 W	14		\$5.00	\$70.00	\$35.00	\$29.75
	THE TOUGHT NOT TALLOT	GE, IIIOIII	1000 W	17		ψ5.00	Ψ10.00	ψυυ.υυ	ΨΔ3.13

	FFR - 1000w MFL PAR 64		1000 w	37	\$5.00	\$185.00	\$92.50	\$78.63
	FFS - 1000w WFL PAR 64		1000 w	3	\$5.00	\$15.00	\$7.50	\$6.38
	WFL - 500w PAR 64		500 w	1	\$5.00	\$5.00	\$5.00	\$4.25
	4559 - 600w 28v ACL, PAR 64		600 w	9	\$5.00	\$45.00	\$27.00	\$22.95
	BTL - Med Pre-Focus Fresnel		500 w	19	\$4.00	\$76.00	\$38.00	\$32.30
	BTR - Med Pre-Focus Fresnel		1000 w	1	\$6.00	\$6.00	\$6.00	\$5.10
	Ray Lt Reflector Kits		600 w	7	\$9.00	\$63.00	\$44.10	\$37.49
Lamp Racks	PAR Bars							
	ACL Bars with 4- 4559 Lamps ea	CSL		4	\$80.00	\$320.00	\$168.00	\$126.00
	4 Bar Rack	Scenes Unlimited		1	\$100.00	\$100.00		
	6 Lamp Bar w/ 6 Cans, 2 Clamps	Tomcat		6	\$120.00	\$720.00	\$330.60	\$247.95
	6 Bar Rack	Scenes Unlimited		1	\$150.00	\$150.00		
	6 Circuit Bar w/ 6 Pin, 2 Clamps	Alnic		6	\$55.00	\$330.00	\$192.00	\$153.60
	Unistrut Chan for Adjust Positiions							
	6 Bar Rack	Scenes Unlimited		1	\$150.00	\$150.00		
Effects	Specialty Lighting							
	Dimmable Fluorescent Striplights	Lighting & Electronics	3	6	\$89.00	\$534.00	\$456.57	\$420.04
	Black Light Tubes (Included)		4 ft	6				
	Strobe Cannons - SCM-64-DMX	Diversitronics/Tomcat	İ	4	\$36.00	\$144.00	\$120.96	\$100.40
	Data Cables		10 ft	3				
	n .		25 ft	4				
	n .		75 ft	1				
	П		100 ft	1				
	Color Rangers CR-100	Pan Command		6	\$95.00	\$570.00	\$188.10	\$150.48
	Power Supply PS-6			1				
	Scroller Case: 29.5" x 22"	PowerMark		1	\$150.00	\$150.00		
	4 pin XLR Cables		10 ft	5	\$15.00	\$75.00	\$60.00	\$240.68
	u u		25 ft	4	\$30.00	\$120.00	\$96.00	
	u u		50 ft	2	\$42.00	\$84.00	\$75.60	
	u		60 ft	1	\$45.00	\$45.00	\$42.75	
	I	1	00 11	'	Ψ-5.00	Ψ-10.00	Ψ-12.13	

	п		75 ft	1		\$49.00	\$49.00	\$46.55	
Road Cases	Assorted			i		A 175 00	A. 222.22	* * * * * * * * * *	4007.50
	Instrument Case: 29.5" x 44" x 69"	Scenes Unlimited		4		\$475.00	\$1,900.00	\$1,330.00	\$997.50
	Steel Frame on 5" x 2" Casters								
	Holds: 30- ERS, 28- PAR 64								
	N/C If Purchased with Fixtures	OLED				4400.00	\$100.00	4.50.00	4400.00
	3 RU - 19" Rack with Lids	SKB		1		\$120.00	\$120.00	\$156.00	\$132.60
	Rails Both Front & Back								
	1 RU Drawer	Rackman		1		\$120.00	\$120.00		
	Cable Case: 22" x 29" x 30" h	Road Ready		1		\$395.00	\$395.00	\$375.25	\$318.96
	Cable Case: 22" x 29.5" x 33" h	Scenes Unlimited		3		\$395.00	\$1,185.00	\$1,066.50	\$906.53
	Hamper w/ Lid: 22" x 30" x 27" h	Royal - 6 bushel		2		\$100.00	\$200.00	\$180.00	\$153.00
	Monitor Case: 22" x 18" x 8.5" h	Pelican 1600		1		\$195.00	\$195.00	\$195.00	\$175.50
Road Cases	Work Box								
	Work Box: 29.5" x 44" x 47"	Scenes Unlimited		1		\$795.00	\$795.00	\$596.25	\$500.85
	Steel Frame on 5" x 2" Casters								
	6- 24" Deep Drawers In the Botton	n		8					
	Adjustable Dividers In the Top								
	Lids Secure with Coffin Locks			2					
Cases	Gel Cabinets								
Cases	24 Drawer Gel Cabinet 850 Sht ±	Coopee Unlimited		- 4		\$495.00	\$495.00	\$470.25	\$399.71
		Scenes Onlinited		'		\$495.00	\$495.00	Φ470.25	ФОЭЭ. / 1
	Steel Frame / No Casters								
	Metal Drawers: 7/8"h x Full Sheet								
	29.5" x 23" x 33"h								
Staging	Dance Floor Ramps						\$500.00	\$297.50	\$238.00
	4' x 8' w x 1/4" to 3" h			1	32 sf	\$100.00	\$100.00	\$70.00	
	8' x 8' w x 1/4" to 3" h			2	128 sf	\$200.00	\$400.00	\$280.00	
Staging	Custom Decks						\$200.00	\$180.00	\$150.30
	Curved Decks for Greek Ampithea			4		\$50.00	\$200.00	\$180.00	
	4' x 8' Wedges for 1st concave ste	ep ep							

Track	72' Bi-parting Traveler Track (US	SED)						\$302.94	\$249.93
	Heavy Duty Track	ADC	18 ft	4	72 ft	\$7.65	\$550.80	\$302.94	
	Clamp Hangers								
	Splice			2					
	Overlap Clamps			1					
	End Stop / Cord Support			2					
	Double End Pulley			1					
	Single End Pulley			1					
	Single Carriers			70					
	Rear Fold Guides			70					
	Master Carriers			2					
	Operating Line		280 ft	1	280 ft				
	Floor Block			1					
Communication	2 Way Radios							\$446.46	\$379.49
	IC-F21-04 RC 2 Way Radios	ICOM	4 w	3		\$300.00	\$900.00	\$315.00	
	BC-144N Desktop Charger	ICOM		3					
	BP-210N Ni-MH Battery Pack	ICOM	7.2 v	6	1500mAh	\$36.00	\$216.00	\$54.00	
	AD-1778/E-ICON	Production Intercom		3		\$55.00	\$165.00	\$41.25	
	Headset Adapters								
	AD913 Transceiver Interface	Production Intercom		1		\$300.00	\$300.00	\$105.00	
	Brief Case			1		\$20.00	\$20.00	\$10.00	